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E8

The motion of the trailer producing wavefronts further from
each previous wavefront is supported by the decrease in the
number of waves in the same distance. This could have been
improved upon by stating that as the wave and the vehicle are
moving in opposite directions the distance between the
wavefront and the vehicle when the next wavefront is
emitted, is greater than it otherwise would have been had the
vehicle been stationary.

E8

The explanation clearly describes that as the beat frequency
increases the difference between the two frequencies
increases. As the frequency is increasing as the tension is
increasing this can only occur if the string frequency is 198.1
Hz.

Clear explanation of Resonance caused by the driving
frequency matching the natural frequency and causing energy
and hence amplitude to increase.

E7

In addition to identifying that waves that have a path
difference of exactly and whole number of wavelengths will
result in waves being exactly in phase. The candidate has
described that with many sources, a small path difference
(n # integer values) will result in destructive interference
from the many waves.

N dx
The approximation of nA = Tx is used, rather than

recognising that as the angle to the maxima is large, the
approximation of sin 8 = tan 6, is not valid.






